( X 10.000 , Y 8.677 )



( )
H1 m 5.000
B1 B1 m 0.600
r—>‘ B2 m 3.100
N1 0.50
N2 0.00
YycC kN/m3 23.0
A4 KN/m? 20.0
O] < 35.0
C KN/m? 0.0
S < 23.333
S < 23.333
a < 0.000
8] 0.60
Cs kN/m?2 0.0
z m
YW kN/m?3 9.8
w < 35 80( 1)
hs m
( Fs 1.0 1.2
lel 1.033 1.033
( ga KN/m? 900 900




« )
H m 28.890
Ou < 57
Od < 0
Xb m 3.236
B < 0
h m 1.55
h2 m 1.000
hsm m 1.0
Pn t/ms 1.8
o t/md 2.6
c 0.50
g m/s? 9.81
b 0.025
" 0.5
vV me 214.3
m 23.9
Yd kN/m? 17.0
@d < 30.0
Sd < 20.000
Sq” < 20.000
qd < 0.000
wd < 30 80( 1)




A (B1 B2)><H1/2

\Y W AxwycC
Y | Y (2xBl B2)/(Bl B2)>=<H1/3
X | X B2/2 (N1 N2)/2x<Y

Mr V><X

A (m2) vy (kN/m3) vV (kN) X (m) Mr (kN m)

9.250 23.0 212.750 2.034 432.734

X 2.034 (m)




P27 ( )

P61
1/3
HL hs h2
( 35 ) s 1.333 ()
( h2  1.000 m)
X B2 N2xY  3.100 (m)

Pv Px<sin(® o)

Py Px<cos(®d o)

w 35 80 ()



Ph (KN/m)

50.398
50.114
49.819
49.502
49.177
26.803

Py (KN/m)

21.739
21.617
21.489
21.353
21.213
11.561

P (kN/m)

54.887
54.577
54.256
53.911
53.557
29.190

w (%)

35
36
37
38
39
40

55.000

50.000

45.000

40.000

(kN)

35.000

30.000

25.000

40

39

38

37

35

)

35 (<)

w



Wi W2

W Alxy 2.869 > 20.0

57.380 (KN/m)

W2 A2xy 2.996 =< 20.0

50.920  (kN/m)

AL A2 (n2)
v (kN/m3)

Wix=<sin(w @) W2 >=<cos(w ¢)><tan(e S7)
cos(w @ a D)

57.380 <sin(35 35.0)  59.920>cos(35 35.0)>tan(63.4 23.333)
cos(35 35.0  0.000 23.333)

54.887 (kN)

Wi Wz (kN/m)

w )

P )

o )

S )

S° )
£ )



F o Fsm
F (kN/m?)
Fsm (kN/m?)
( 332 (13 3 28 )
o
4.1 Fsm
bu 2 a H 2 a Xb
Fsm pPmn g hsm [{— (@ exp(————))cos?(Ou Od )}exp(———)
a hsm sinBu hsm
bd 2 a Xb
- 1 N
@ e )]
SR fb
(o 1)C 1
1C
bu cos Ou {tanBy (((jol)c) 1 tand}
bd cos B¢ {tan®© &tan }
‘ © (o pc 1 e
Pn 1.8  (t/md)
g 9.81 (m/s?»
o 2.6 (t/m®)
c 0.50
@4 30.0 (=)
fb 0.025
H 28.890 (m)
hsm 1.0 (m)
(ST 57 )
(SF 0 )

Xb 3.236 ()



2 2
a [ S

fb
(o 1DC 1 (2.6

(o 1)

bu —
(o 1)C 1

cos Oy {tan By

cos(57)>={ tan(57) (2.6

1)=0.50 1

> 0.025

tanpd}

1)>=<0.50

(2.6

0.70

(o 1)

bd —_—
(o 1DC 1

cosOq {tan Oud

cos( 0 )>={ tan( 0) (2.6

1)=0.50 1

><tan(30.0)}

tancpd}

1)> 0.50

(2.6 1) 0

-0.26

Fsm

b
Fsm ©En g hsm [{Tu(l exp(

hsm sin©y

bd. (1 exp(
a P hsm

0.70
1.8 < 9.81 =< 1.0 x<[{ 0.028

><(1

><cos?( 57 0 )}>=<exp(

.50 1

i ))cos?2(Ou B4 )}exp(

2 a Xb

><tan(30.0)}

hsm

)]

2> 0.028 < 28.890

exPC 1 5 < sin(s7)

2> 0.028 > 3.236

-0.26
> exp(

1.0

2> 0.028 < 3.236

0.028

66.2  (KN/m)

Vs

Fsm Pn ><Vs?

Fsm
Pn

66.2
1.8

6.06 (n/s)

10 )]

0.028

a Xb

))

)
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4.2

FH

a® Fsm
0.5 =< 66.2

3.1 (kN/m)

F hsm ( 1.0m

33.1 =< 1.0

33.1  (kN)

hsm

hsm
2

HL h2

5.000 1.000

4.500 (m)

H1
h2

0.5

1.0 (m)

1.0

5.000 (m)
1.000 (m)
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5.
5.1
vV (kN) X (m) Mr (kN m) H (kN) Y (m) Mo (kN m)
212.750 2.034 432.734
21.739 3.100 67.391 50.398 1.333 67.181
33.100 4.500 148.950
234.489 500.125 83.498 216.131
5.2
q >Mr =Mo 500.125 216.131
>V 234.489
1.211 (m)
5.3
Fs
e V< Cex=<B2 234.489><0.60 0.0> 3.100
>H 83.498
1.6
8]
Cs (kN/m2)
B2 (m)
1.0
Fs 1.6 1.0 0K
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5.4

5.5

5.6

o

02

Q1

Q2

B2

3.100

— d 1.211
2 2
0.339 (m)
0.339 (m)
2/3
B2 3.100
1.033 (m)
3
0.339 1.033 OK
1/3 gi 02
>V 6><e 234.489 6> 0.339
=<1 ) <1 —
B2 B2 3.100 3.100
126 (kN/m2)
>V 6><e 234.489 6> 0.339
<(1 ) (I
B2 B2 3.100 3.100
27 (kN/m2)
ga
126 ga 900 OK
27 ga 900 OK
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6.
vd v
vd (m?)
v (m?)
6.1
vd
ha

Xb 3.236 (m)

(S 57 )

B 0 ™)

h2 1.000 (m)

h 1.55 (m)

ha 2.550 (m)

vd 9.57  (m?)
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6.2
H 28.890 m
v 214.3  (m®)
W 23.9 (m)
Y vV W
8.97 (m?)
v W
(m) (m®) (m)
5 H 10 41.9 13.8
10 H 15 78.9 17.1
15 H 20 101.2 18.6
20 H 25 150.0 21.2
25 H 30 214.3 23.9
30 H 40 238.3 24.8
40 H 50 371.4 28.8
50 H 500.0 31.8
5m 5 H 10
6.3
\Y% vd
vd Y, OK

hd 2.41 (m)
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6.4

"__..g,

Pv Px<sin( O«

Ph P><cos( &4

wi 30 80 (=)

o)

ad )
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Ph (KN/m)

14486
14.617
14.719
14.785
14.835
14.843
14833
14.783
14.726
14.632
14526

Py (KN/m)

5.273
5.320
5.357
5.381
5.399
5.403
5.399
5.381
5.360

5.326
5.287

P (kN/m)

15.416
15.555
15.664
15.734
15.787
15.796
15.785
15.732
15.671
15.571
15.458

wd (%)

51

52
53
54
55
56
57
58
59
60
61

15.750

15.700

15.650

15.600

(kN)

15.550

15.500

15.450

15.400

61

60

59

57

56

55

52

51

Qo)

56 (<)

d
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W

As <ya  Z(g><b)

w

35.836  (KN/m)

2.108 = 17.0 0.000

Ag () q (kN/m?)| b (m)
v ( ) (kN/Te), 3-5
(kN/m?)
(m
P
Wxsin(wa @q)
cos(Wd @1 Ad  DOa)
35.836 ><sin(56 30.0)
cos(56 30.0 0.000 20.000)
15.796  (kN)
W (KN/m)
Wq Q)
@i )
(@ ¢ (O)
S Q)
2PH 2> 14.843
Kadh 0.301
d hd? 17.0 < 2.417
2Py 2> 5.403
Kadv 0.109

17.0 >< 2.412
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6.5

Pv

Py

35

Px<sin(d o)

Px<cos(d o)

80 (%)

P27 (
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w () P (KN/m) Py (KN/m) Pu (KN/m)
35 146.524 58.034 134.541
36 145540 57.645 133.638
37 144 .551 57.253 132.729
38 143.570 56.864 131.829
39 142 .474 56.430 130.822
40 95.560 37.849 87.745
150.000
140.000 """""""\\\r\""""""‘%%h*ﬁ**ﬁ‘ﬁ"‘“““r“‘\\‘¥‘¥¥ﬁﬁﬁ“‘\
130.000 f | |
~  120.000 : 1 1
Pl | | !
\.Z/ | : : :
110.000 i 3 :
100.000 3 ; :
90.000 1 1 :
35 36 37 38 39 40
)
w 3H()
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W1 W2
Wi Alx<y Ad><ys =(g><b) 2.869 > 20.0 1.922 > 17.0 0.000
90.054  (kN/m)
Wo  A2x<y A2><Vya =(g><b) 2.994 > 20.0 5.887 > 17.0 0.000
159.959  (kN/m)
Al A2 (m2) b (m)
2
Ad A2 (KN/m) a (kN/m| Wi W2
3.5 0.0
\% (m?)
Y ( ) (KN/m3)
(kN/m2)
(m
P

Wix=sin(w @) W2>x<cos(w ¢)><tan(e S7)
cos(w @ a D)

90.054 >sin(35 35.0) 159.959 ><cos(35 35.0)>tan(63.4 23.333)

cos(35 35.0 0.000 23.333)
146.524  (kN)

Wi W (kN/m)

@ )

e )

S )

S° )
> )
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Pv (kN/m) Pu (kN/m)
58.034 134.541
5.403 14.843
52.631 119.698
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vV (kN) X (m) Mr (kN m) H (kN) Y (kN) Mo (kN m)
P1 1.842 3.100 5.710 5.087 5.000 25.435
p2 2.613 3.100 8.100 7.215 4.500 32.468
p2*° 0.927 3.100 2.874 2.559 4.333 11.088
P3 52.631 3.100 163.156 119.698 1.333 159.557
< >
Ply % < (hd h2)2>=<Kadv><yd P1y % ><(hd h2)2>=<Kadh><yd

P2y (hd-h2) ><Kadv><h2><wy/q

1
P2"y > ><h22><Kadv>=< yd

< >

Yp1 H1

v o2
P2 ’

Y H1 h2 h72
P2 3

(HL h2 hs)
Yp3 D —

3

P24 (hd-h2) ><Kadh><h2><wy/d

1
P2y ? ><h22><Kadh><vy/qd

Xp1 H1>=<N1 Bl

Xp2 B2  Yp2 ><N2
Xp2- B2  Yp2r><N2
Xp3 B2  Yps ><N2
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8.
8.1
V' (kN) X (m) Mr (kN m) H (kN) Y (m) Mo (kN m)
212.750 2.034 432.734
58.013 3.100 179.840 134.559 1.698 228.548
270.763 612.574 134.559 228.548
8.2
q >Mr >Mo 612.574 228.548
>V 270.763
1.418 (m)
8.3
Fs
Fs > V> Cgx<B2 270.763>=<0.60 0.0>< 3.100
>H 134.559
1.2
@]
Cs (kN/m2)
B2 (m)
1.2

Fs 1.2 1.2 OK
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8.4

8.5

8.6

o

02

Q1

Q2

3.100

— d 1.418
2 2
0.132 (m)
0.132 (m)
2/3
B2 3.100
1.033 (m)
3
0.132 1.033 0K
1/3 gi 02
>V 6><e 270.763 6> 0.132
<(1 ) <(1 i
B2 B2 3.100 3.100
110 (kN/m2)
>V 6><e 270.763 6> 0.132
<(1 ) <1
B2 B2 3.100 3.100
66 (kN/m2)
ga
110 ga 900 0K
66 ga 900 0K



